Nl = O &

Ab & & Al A

SA - B B2(3) - NIRAY - BYS 0l o ol 8 o HlmE2
HMSEEL 38,953,041 28,552,311 10,400,730
= 1,632,000 1,632,000 0
J| 1,560, 146 1,560, 146 0
== 5,924,307 5,724,307 200,000
Al 28,514,594 18,698,864 9,815,730
cH 800,000 800,000 0
= 521,994 136,994 385,000
HsolZet RE(23L 2/ M=) 36,016,331 27,321,120 8,695,211
= 1,632,000 1,632,000 0
J| 1,560, 146 1,560, 146 0
o= 5,924,307 5,724,307 200,000
Al 25,577,834 17,467,673 8,110,211
cH 800,000 800,000 0
= 521,994 136,994 385,000
HMSAE &= 29,689,852 21,430,799 8,259,053
sy 1,632,000 1,632,000 0
J| 950,000 950,000 0
< 5,659,000 5,479,000 180,000
Al 20,648,852 12,569,799 8,079,053
CH 800,000 800,000 0
SSHEAE 29 794,000 294,000 500,000
401 AIEBIZL 2008 794,000 294,000 500,000
01 Al&H| 792,380 292,380 500,000
OARIZsE NEASE ZHISA
100,000,000 * 1Al 100,000 0 100,000
Osgzsd Mt 249
100,000,000 %1 A! 100,000 0 100,000
OY=ZHO0IESE BIDIEAIE EXISA
200,000,000 *1A! 200,000 0 200,000
O37]| CletelAsE BaZAt
100,000,000 * 1Al 100,000 0 100,000
Al A= E 2F 1,718,170 1,701,804 16,366
201 23| 680,316 686,410 26,094
01 At22teld| 54,846 60,940 26,094
OEE2 ME(0aE2)
A8 1,800&*2,500% 4,500 5,000 AB00
OdU=gE 22 2 2(0aE)
2 18,000,0002 18,000 20,000 A2,000
Oall=gd A2E F(0aE2)
ZA 900,000 %12 10,800 12,000 A1,200
OZAA AFRZ2(HI(0lArEZ)
AA™ 2,700,000 2,700 3,000 A300
OF=D| ez (0arEe)
ZE 31,5002+ 1004* 12 3,780 4,200 A420




M HEd

=
M HsolZet AE(23Y2E/HS)
S =

g?elr HMSAE &S

2A -3 - A(FH) - HIRA - BEZ Ofl hHOH & Hwns2
SEEIEEECRER)
B3 27,0002%13CH 122 4,212 4,680 1468
QUEIINE 23 +42(0aE)
ZA 540,0002 %122 6,480 7,200 AT20
OASSHE 312ATIE P (GIAE)
ZE 2,7002%1,0000H 2,700 3,000 A300
OY4Z L AR AU (0A=)
B 270,0002%38tA 810 900 A90
O=Za ARFT ME(0AE)
2 72,0002 %123 864 960 AN}
405 KA SH 27,860 5,400 22,460
01 I SEFSH| 27,860 5,400 22,460
O340 7¢ 23,000,000 *1CH 23,000 0 23,000
OFZ HAI| PAU(OIA=)
Z& 900,000 *4CH 3,600 4,000 2400
OMEI| (oA=L
AX 720,000 *1CH 720 800 A80
OUEETAIA 2L (0IAIEZ)
A 540,000 *1CH 540 600 A60
(HEt=2A2RE 29 206,715 207,795 1,080
201 L2 129, 140 130,220 1,080
01 AFR22IHI 9,720 10,800 1,080
OUst=AERE ARE P (MARY)
3 270,000 %12 3,240 3,600 360
QUIRIIE 23 £42(0AEY)
A 27,0002 +8IAH6CH 1,29 1,440 A144
OUESH=AZHE 4 2R MNEH(0AEZ)

ZE 27,0002 %2K Ex 1241483 5,184 5,760 A576
(C)MENSIATL(FFHLHMSH ST ) (Mt 5,522,489 5,300,000 222,489
Ared)

< 2,730,000 2,730,000 0

Al 2,792,489 2,570,000 222,489

401 Al H| 2 S OHH 5,522,489 5,300,000 222,489

[ 2,730,000 2,730,000 0

Al 2,792,489 2,570,000 222,489

01 Al&H] 5,509,239 5,286,750 222,489
OYFULH MEHSIY T (S2H THAHA)

222,488,070 %14 222,489 0 222,489

(B)AEXZHZA THALS 3,852,236 2,632,000 1,220,236

z 1,632,000 1,632,000 0

Al 2,220,236 1,000,000 1,220,236

401 AlEHI 22 0HH] 3,852,236 2,632,000 1,220,236

z 1,632,000 1,632,000 0

Al 2,220,236 1,000,000 1,220,236

01 Al&H] 3,842,761 2,622,525 1,220,236




2A: MSHEDH
A HMFeloet AH (2L 2/ HR)
=l MSAIE 2E (CH: & 21)
SA -2 - SA(3) - MRAY - BHAS Oi &roH JE N Hlws2
OAZXAZAA TH(ESH THAHA)
1,220,235, 2202 %1 Al 1,220,236 0 1,220,236
(2)2LMSHEHHE 2,701,042 0 2,701,042
401 Al EHIZL LY 2,701,042 0 2,701,042
01 Al&H| 2,701,042 0 2,701,042
Og= BCHEINSHEH HE
1,000,000, 0002 %1 A! 1,000,000 0 1,000,000
OYZ HICHHIMISME A (SSH MAHA)
1,701,042,0002 14! 1,701,042 0 1,701,042
(2)E3 E2AH0IEEH AMEES 600,000 0 600,000
== 180,000 0 180,000
Al 420,000 0 420,000
401 Al &EHIZL LY 600,000 0 600,000
< 180,000 0 180,000
Al 420,000 0 420,000
01 Al&H| 600,000 0 600,000
Og= 2AH0IESE ANEEx
600,000,000 *1A! 600,000 0 600,000
== 180,000 0 180,000
Al 420,000 0 420,000
ZONSHEHAHE 3,000,000 0 3,000,000
401 Al EHIZL LY 3,000,000 0 3,000,000
01 Al 3,000,000 0 3,000,000
OYZ BHICHHIMISHE A= (202249 SEWEA)
1,000,000, 0002 *1A! 1,000,000 0 1,000,000
Og= BHOHEINISHEH HE
2,000,000,0002 % 1A! 2,000,000 0 2,000,000
Ms2td =4 6,326,479 5,890,321 436,158
J| 610, 146 610,146 0
< 265,307 245,307 20,000
Al 4,929,032 4,897,874 31,158
= 521,994 136,994 385,000
=AM=E2E 201,020 179,520 21,500
307 212t01& 201,020 179,520 21,500
02 QIRHBAIAHEE R 10,000 0 10,000
OYFAIMSS I X X2 (BExE HH)
10,000,000 * 1A 10,000 0 10,000
03 I HHEE2AHIEX 191,020 179,520 11,500
OgFAM=S 2F(Ex2 HNH)
A 191,019,040 191,020 179,520 11,500
AEX0IAE 2d3) 46,715 47,315 2600
201 2| 5,400 6,000 2600
01 At22teld| 5,400 6,000 2600
ONXE&AE SX(0AIEZ) 5,400 6,000 2600




M HEdE
M HsE
3

=l Msed a4 CEERD
SA - B BR(3) - NRAY - BYS 0t ol 8 o HlmE2
—diEd 7x S22 AE
ZH 5,400,000 5,400 6,000 £A600
HOHRI XIS K& 74,078 74,420 A342
301 Let2dE= 3,078 3,420 A342
11 SALAHIXIRAZ 3,078 3,420 N342
OXIFOMMIMEUE IR | (HlarEZ)
23 1,053,000 1,053 1,170 A7
OXFOeIBE=EMEUE &X X obl(olarE2)
AA 2,025,000 2,025 2,250 A225
=AM HIXIR 403,200 448,000 Ad44,800
307 212t01 & 403,200 448,000 Ad4,800
04 QIZISHAIAIR BT 403,200 448,000 Ad44,800
ONI443] HFAIQMSUS HEHP(EXs HH)
(GlarE2) 2 144,000,000 144,000 160,000 216,000
ORml443] S=AI2IHSUHE SHE NJA(BExE HY)
(OllarE2))
AA 222 300,000 222,300 247,000 224,700
OM443 S=AlICIH=UE S0SsW XA
(228 FY)(oaE)
AA 31,500,000 31,500 35,000 A3,500
OHMI443] S=ACINFHE &t S = X2
(228 FY)(oaE)
AA 5,400,000 5,400 6,000 A600
ANEI| E=E MEUa XA 108,000 120,000 12,000
307 212t01™ 108,000 120,000 12,000
04 QIZISHAIAIR E X 108,000 120,000 12,000
OAIED| B2 MU A XA(BEE FH)
(ollarE2) 23 108,000,000 108,000 120,000 A12,000
EmbsiEs=raN ] 254,300 218,300 36,000
307 212t01& 218,300 182,300 36,000
02 QIRHBAIAHEE R 218,300 182,300 36,000
O ZElA(BEXE HH)
400,000 %109 36,000 0 36,000
HILEHRINEUE HEIXA 490,400 506,000 15,600
201 et | 5,400 6,000 2600
01 AtR2telt] 5,400 6,000 2600
O&=U3g KX 5,400 6,000 2600
— &0 HIZ(0lAE2)
AH 900,000 900 1,000 A100
—E82 ME(0arEZ)
AA 4,500,000 4,500 5,000 A500
307 212t01 & 485,000 500,000 A15,000
04 QIZFSHAIAIR E X 485,000 500,000 A15,000
O M=EUs 2RX(EEXs HH)(HRAY
By (T) &2 HHERIEUE XI"'eg)
Z3 195,000,000 195,000 210,000 A15,000




2A: M=SH
A HMFeloet AH (2L 2/ HR)
=l Msed a4 (CH: & 21)
A - ZJH - SR(FH) - MM - BAES Oi &roH JE N Blwsz
NHEAZ=EHE S HE S X2 50,000 20,000 30,000
307 212t01& 50,000 20,000 30,000
04 QIZISHAIAIE BT 30,000 0 30,000
OXHEAl MESUE BKA(BEE FH)
30,000,000 * 1Al 30,000 0 30,000
A=A UXA 16,800 11,800 5,000
307 QI2t0I& 16,800 11,800 5,000
04 QIZISHAIAIE E X 15,000 10,000 5,000
O2023 EFAl SEER| 0 SRS HE(BEE FNH)
5,000,0002 14! 5,000 0 5,000
223X 0 15,000 A15,000
307 212t01& 0 15,000 A15,000
04 QIZISHAIAIR BT 0 15,000 A15,000
OHNegl dHIZst=EMIIE 2EE2H3 =S
(BXE FH)(HR2AR BHE " (S)E22EU3
a'ez) 2A 0 0 15,000 A15,000
HIERUSKIA 0 20,000 A20,000
307 eI2+o| & 0 20,000 A20,000
04 DIZHHAIAIEE X 0 20,000 220,000
OM102 &=t &= ctXIZE 203 & X6zl
LA MIRE E*?EH(E‘E%:: M) (M A
Y () MIERUIXA"2Z) 323 02 0 20,000 £20,000
G AWSIZAT|UE X 27,000 30,000 23,000
307 212t01™ 27,000 30,000 23,000
04 QIZFSHAIAIR E X 27,000 30,000 23,000
02023 =AM 2AAT|hS] x| X2 (BExE2 )
(Ol a2 2 27,000,000 27,000 30,000 43,000
GYFALRZY 29 (2T XA) 35,000 15,000 20,000
Al 15,000 15,000 0
= 20,000 0 20,000
307 212t01™ 35,000 15,000 20,000
Al 15,000 15,000 0
= 20,000 0 20,000
03 SIIHHMEE2AHIEX 35,000 15,000 20,000
OZFHHISSAEL=ZY 29
Z & 35,000,000 35,000 15,000 20,000
Al 15,000 15,000 0
ES 20,000 0 20,000
(2)=2IM100 MSISHEH 29 205,000 200,000 5,000
J| 160,000 160,000 0
Al 40,000 40,000 0
ES 5,000 0 5,000
307 212t01& 205,000 200,000 5,000
J| 160,000 160,000 0




2AX:
X{XH -
o e

chel:

H=& S
Moot A= (2L 22/H=)
H=setd x4

SA -2 - SA(3) - MRAY - BHAS Oi &roH JE N Hlws2
Al 40,000 40,000 0
= 5,000 0 5,000
02 QIRHBAIAHEE R 205,000 200,000 5,000
O=CIHIE100 E=HEISHH 29
23X 205,000,000 205,000 200,000 5,000
J| 160,000 160,000 0
Al 40,000 40,000 0
= 5,000 0 5,000
(2)ANZEHAY2SHIIESLI 1,838,000 1,478,000 360,000
== 158,000 158,000 0
Al 1,250,000 1,250,000 0
= 430,000 70,000 360,000
301 Let2dE= 1,838,000 1,478,000 360,000
== 158,000 158,000 0
Al 1,250,000 1,250,000 0
= 430,000 70,000 360,000
2=t - 2SRSE43 1,838,000 1,478,000 360,000
OXE2sEIIR 2
23 1,838,000,000 1,838,000 1,478,000 360,000
== 158,000 158,000 0
Al 1,250,000 1,250,000 0
= 430,000 70,000 360,000
(D)E=22=U XA 23,000 0 23,000
== 8,000 0 8,000
Al 15,000 0 15,000
307 212t01& 23,000 0 23,000
== 8,000 0 8,000
Al 15,000 0 15,000
04 QIZISHAAIE BT 23,000 0 23,000
OHeal st=46tl2st=NIIE 23S
(HI2AIY B " 22 UBIKI "0 A)
23,000,000 1Al 23,000 0 23,000
< 8,000 0 8,000
Al 15,000 0 15,000
(Z)EIE2U3 XA 26,000 0 26,000
== 6,000 0 6,000
Al 20,000 0 20,000
307 212t01& 26,000 0 26,000
== 6,000 0 6,000
Al 20,000 0 20,000
04 QIZISHAIAIR BT 26,000 0 26,000
OHMI103] AStl 8= 2HXI=E2Us ¥ H6esl
LBHANE R QEE RS (MIRAIY BA:
"H2ERUI XA 0IA) 26,000,000 14] 26,000 0 26,000




A HEN
3 H=sel
=

el HsE

SX - B - S2(3) - HRAY - LS IR Jl & o HInE2
[ 6,000 0 6,000
Al 20,000 0 20,000
()™= iSoIEtisl X2 21,000 0 21,000
[ 6,000 0 6,000
Al 15,000 0 15,000
307 QI2+o| & 21,000 0 21,000
& 6,000 0 6,000
Al 15,000 0 15,000
04 QIZISHAIAIREE X 21,000 0 21,000
OMI43] ABHAHYH M2HISDIEICHS Il X
(FZEEA ALB)(MRAIY B "ML e
HMSUa OHEIXI&"0IA) 21,000,000 *14] 21,000 0 21,000
[ 6,000 0 6,000
Al 15,000 0 15,000
HIOIZAIE 2e|(2stL22/M=K) 2,162,207 464,261 1,697,946
HIOIZAIA 22| 2,162,207 464,261 1,697,946
AFA GEASHE 2Z 175,963 178,017 A2,054
201 L2 3| 64,450 65,054 A604
01 A=22t2ld| 5,440 6,044 2604
OYFAl RENHS2 2el(olars2t 5,440 6,044 AB04
—33NEA HHA AIREE 7Y
43 63,0008*12 756 840 N84
—NENBE ZEIE e 2
2 360,000 1CH 360 400 A40
—NEH HMES 40 M
A 54,0002 10% 540 600 60
—NEHSE 2HE & HHE &X
2 450,0002 450 500 A50
—MYDIEEMSE 7S
A 1,2602x204*180L 454 504 A0
—NHEA oHH HES M
Z3 1,800,000 1,800 2,000 A200
—3&A HAEE 7Y
2 90,000 * 12 1,080 1,200 A120
405 XHAHEISHI 13,050 14,500 A1,450
01 AL 2EFSHI 13,050 14,500 21,450
OSSN 2 (0IAHEZ)
23X 315,000 *20CH 6,300 7,000 AT00
OFINIKEH 2 (HAEZ)
2 1,350,000 *50Y 6,750 7,500 AT50
NEANEZ W22 1,986,244 286,244 1,700,000
401 AlEHIZL 20| 1,959,000 259,000 1,700,000
01 AI&HI 1,959,000 259,000 1,700,000
OstFAIE A & HI0I12 €22 03 =43 AlY
1,500,000, 0002 14! 1,500,000 0 1,500,000




A H=HEDL
M HIOITAIY 2el(2L2E/HS)

=l HIOISAIE 2t CEERD
SA - FH . C(32) - MISAY - BAS IR )5 o ClImE=rT}
Ot A HIZEZ &2 HI0|12 E22 Z&8AY
200,000,000 *1A! 200,000 0 200,000
Aol2sZze| (23t 22 /HK) 634,307 621,148 13,159
ZOMSHY 2l 63,204 56,454 6,750
IOHSHE Ald2tel 57,204 50,454 6,750
405 KHAHE S| 6,750 0 6,750
01 AL =SS FHSHI 6,750 0 6,750
OLR&I| ¢ 450,000 % 15CH 6,750 0 6,750
M=sAl L2 571,103 564,694 6,409
ANRI2SZE2tel 276,604 277,276 672
201 23| 274,294 274,966 672
01 At22teld| 6,050 6,722 672
OSIEAES 2 (0IAI=Z)
A 45,0003 x 12 %442 2,160 2,400 A240
OMDIBHHSE 2 (MAEZ)
ZA 1,51224%1001* 140 2,117 2,352 A235
OARISSE H=2D| P (HaEZ)
Z2E 63,000&+35+63 1,134 1,260 A126
OANQI2SE J==D| sgyl(0larE2)
A 27,0008 %128 324 360 A36
OJIZtHI2E X HE =S (HlAEZ)
2 63,00021+59 315 350 A35
MBS AL 2] 294,49 287,418 7,081
101 el44| 36,019 28,938 7,081
04 JIZHHIZ2 XS ES 36,019 28,938 7,081
OARI2SE SZEH| 36,019 28,938 7,081
—Ex 22X 76,960 *2Hx 10 1,540 1,232 308
— =Xt 76,960 %2 X x44 2! 6,773 0 6,773
HAY2HAYI(MSTIE) (JIEHIIE 133,514 145,782 A12,268
JlE23l 133,514 145,782 A12,268
JlE23l 133,514 145,782 A12,268
201 23| 50, 126 53,262 A3,136
01 At22teld| 50, 126 53,262 A3,136
OSAZX F(0larEZ)
A 3,644,000 3,644 5,280 1,636
Ogttx2 (0l AHE2)
AH 700,000 700 1,200 2500
O27A24=46H| 9,790 10,290 A500
—SADI(HHE) 2l(oaE)
238 1,000,000& 1,000 1,500 A500
OJIEH AFRZH2|H| (GIAHEZY)
28 820,000 820 1,320 2500
202 o4t 78,408 87,120 28,712
01 =2LHOBI 78,408 87,120 28,712




2A: NS
I HYSERY|(MSTED) OIEHIIEN
Se: D238 (Crol: XM 2l)
2A -3 - A(FH) - HIRA - BEZ Ofl &toH J &3 N HuwsZ
OZLIoiBI(of AR )
d& 59,360,000& 59,360 63,360 24,000
Ol (o & =)
2 19,048,0002 19,048 23,760 N4 T12
203 LRF&| 3,780 4,200 2420
04 EN2ILRFEI 3,780 4,200 2420
ORNSI IR (HAEZ)
28 3,780,000& 3,780 4,200 2420
HRES(MSED) (2L 2Z/HK) 6,682 0 6,682
SEXE 6,682 0 6,682
SEXE 6,682 0 6,682
802 gret=DIEF 6,682 0 6,682
01 =22 X38HeE=2 365 0 365
020219 & 365 0 365
—=0IX2100 SFHSECISHEH 29
231,630 14l 232 0 232
—=20IMZ100 SFXSCISHE S (0IAL)
132, 727 % 1Al 133 133
02 Al - EHIEXZEEZ 6,317 6,317
02022 % 14 14
— X453 S|t A= 0HE
13,3603+ 14] 14 14
Q20219 & 1,216 1,216
-3 SR AMAES B2ASA
41,9653 * 14 942 0 (oY1)
—g9F SR8 MEE BL3AHOIR)
273,2102%14] 274 2r4
0201848 = 5,087 5,087
—Z2F J|HNSEs & HOAML &5
4,776,510 *14 4,777 0 4,777
-2 J|AXNSES L HOALE S=(0IA)
309,910 14 310 0 310




